
Taylor Seus Mhod multaneou ns fust 

Ondin di huenttal euatim 

The eguatioo the t 4, (7. y, 2) 
dz f(,y,2) with inal tomdikons
dx 

0) = yo, z(Xo) = Zo cam b lved y 

Taglr Seies method as wen belo. 

Probuo 
a z-a, da t wth lo) = ', 

Sewe 
de 

zlo) = I, b Taking hzo.l, t ek lo.1) and 

Z(o) he and z ane depndint VanaSs 

and 
tndesendent . 

wd z x+ 

Take o= 0, Z, =l and 

h o. 
2 zlo ) ? 

Tae Ao20, 

}(o) ? 

2- 
2 

Z ete 2 etc 



hon Tayles seps, fs d, amd Z, We he 

ylo.) + hy.+ . 
3 

and Z zlo.) = Zo + hz + z£+. 2 
31 

2 I 

2 = o+Yo 04 = 

Zo-I I-1 =o 

Zo 
V 

Snbsttt there m Oonmd , W 

= lo) = /+Co. )+ () + (2) 2 

+o +0.000 333 

. loo3 ( Cemre to 4 damals) 

o(*24 Z 2lo ) = t +(o.1)I + (2 + "oo 

o +O. O+0 Ooooo834 -. 

Iloo ( Cowact to4 deumal plaus) 
lo. 1) = 1. lool and zlo.)= f.ljo 



ayo Seves Method setend onden àftenevn 

Any ieuntal equafn e th aeond 

seduc hugle ndn cm be aatved deducw 

ta t toa lower onden dinental euatoy . aton 

Aemd ondn aibhunthal equaton Can he A 

dutrstoa st ndu dilbwihal equatw 

ammatian y'= Z and then he lotter 

pn Can sevad as wnal, 

d t(z.y, dx 

a f(1.y, y') 

Suppom 

giwen Aiyetal equate togethe 

with he inikal Landifions 

to) amd yo) = J 

shui o, o kmowm values 

Settr y'= b24 
He y annd the equafion be tonge 



nth mliat Londatian, 

(20) -
amd 

ND, he sort to selve (5 Tage hea wnth 

ad uingTaglar eies method 

i bo 4 h 
3 

whe -Zo h. 

2 do + beLomE 2 

+ 
Eguatam gives p' amd ditntating it 

Po3P 

we get , P Hene o 

Cam be get wg O amd WA Cam jek 
and Pi Smc we kwod , P we cam 

at (X14,). Aga 

P2 b+ hpi P+ we ge P2 Cnd uwy 

+. . h ek , 
2 

Smu we calcade 

Thus We Cacnlkte 



4 1 gn yto) ,Jto)eD and 
Se 

Cal cnlt tlo-1). 

e 

DHennkatmg W.st x 

V 
= +4 *d = 3 + 

V 

4 4 y+ y 
1V 

do 2y +Xdo =0 

V 

o 3o +Xoo - 3 

Henr 3 

l+o (+ o 3) +. 
41 

48 

(o1) (o.y ylo.) 14(0.1)* 
2 

8 48 

1oOSol252 



Euln l Method 

Au To seve = P(zi) with innthal 

Condaton lto) = y->0 
take, take thu honb x= o ,,a,.. wher 

-h 
X = 2otn, t= o, 1,2,.. . 

Le h actaal selutiem o t dikeuital

eqatn be denoted by ta goth (tovtinuous 

dine gnaph) P (zo,¥a). Liesm tt Cune. We 

he h vaue m une at Z=7i. 

eguation eayalen tanent at ., ¥) t he Cuve 
The 

8-3 J(x-) 
,Yo) 

t(ao,).(1-Zo) 
. Yo + t (xo, y) (x-X.) D 

Val tanjent 
Coresondun t = 7 In Lnteval (x,) 

the CADNe t appro Kimated b tanget, he 

Therve* Uae he CAve 

appoxunmay equal t 



tangent at (,F) corespending t x-X tang the 

whue h -Xo 

M,P M, & ) Rea igne 

Hx h)-x)4 hfta:)| Mo M M 

Agam, we opproximate Cuve by hi le 

threugh (, y,) amd sha sepe f(a,) 

a +F(z,31) = Y,+ hy 

n+ n+h¥(nYn) nso, l,2,.- 
callad Euless algonthm 

Thus 

Th kmmula 

Prosla 

y amd lo)=, detamne o lala 
Gawn 

ak a - ®.o) (0.0) (0.o4) by Euke mefhod 
Se y amd l) = f¢z)= -*. 



He o = 0, jo = I, A - o o1, z = D. 02, 73 = 0. o3, 
o. o4 

We have t ind Y1, %,h,. Takeeo.ol We 

By &ulen aljorithm 

n +hn dn + h f(xn.y,) . 
d do +h4(7o &o) 1+0. o1) (-1) z I- Oo) 

=o.99 

hi=o.44 o-01) () 
eD. 414 (o. o) (-0.19 
0 1 8o ). 

92+hf/x2,)- o. 9%1+lo.o1) E0.9so1) 
= o. 9?. 

d t3 + h fla3 8a) = o.9303 +0.)(-4.9201)
0. 96ob. 

Tabulan Ualus aM 

D03 o.o O.02 

0.9900 0.9go 0-903 

Exact:I D,990o b.9802 a990 0.968 
m, e is u exat soluti. 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

